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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,931,200
01 AlZ2H| 2,931,200 0 2,931,200
O s=8ioIo=2E & =4 2,931,200
[ 2,931,200
S RelHAESIRA 222 500,000 500,000
401 Al HIY S CHYI 500,000 500,000
01 AlZH| 500,000 500,000
O LHH HLSAHHZIIS) 500,000
ZESEANTE SSLUFE A A 1,000,000 0 1,000,000
401 AIEHIZ SR OHYI 1,000,000 1,000,000
01 Al&HI 1,000,000 1,000,000
O XL (HZEIIZ) 1,000,000
2810NE 1330 2=2 =4 20,000 0 20,000
401 Al HIZL 01| 20,000 20,000
01 Al&H| 20,000 20,000
O 281k 1330 2=Z =29 20,000
SENEP L NL] 5,387,660 1,286,460 4,101,200
= 112,500
S 2,106,250
Al 3,168,910
B2 XL X 15,500 15,500
202 04l 13,500 13,500
01 =LHAHI 13,500 13,500
O HEa gexd 7,500
O Ngig g4 3,000
O A4 g2 3,000
203 g4l 2,000 2,000
03 A=A =] 2,000 2,000
O ERZXIYNL AFFZ 2,000
CHSE2A2E XA 27,560 27,560 0
201 Ler=23 | 27,560 27,560
01 At2teltl 8,360 8,360
O &z HIE ¢ 3,200
O sl 8a8===2 170,000& » 122 2,040
O 2gAME |XZe =2
150,000& * 122 1,800
O CCIV Sit= 110,000& ~ 12 1,320
02 S3=4gl 19,200 19,200 0
O &g - dotrz - SERSS
1,200,000 122 14,400
O gZH 800
O AE&Hl |Xil 4,000
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O =2 QtIE=(24H], 294l S) 372,000
401 AIZHIX S0 100,000 40,000 60,000
01 AlZH| 100,000 40,000 60,000
O =2& ANEE E=(HZII3) 100,000
2GR SH0ICAHAE 2S(%) 700,000 0 700,000
< 400,000
Al 300,000
307 elztol & 400,000 0 400,000
S 400,000
05 212+ =S 400,000 0 400,000
O SADICIHAIEY 2IERIEZ(HZIIZ) 310,000
== 310,000
O I 7S (HEI13) 90,000
= 90,000
401 Al HIZ 2018 300,000 300,000
01 Al&H| 300,000 300,000
O Live Studio Z&(HZIIZ) 300,000
S| 2(SHU) S B} 17,100 12,000 5,100
207 ARl 17,100 12,000 5,100
01 S| 17,100 12,000 5,100
O S=dc 338t E9 17,100
EAUCIOIOLE2E HIAEIZE(2SUISEAL 17,100 0 17,100
207 ARl 17,100 17,100
01 HESHI 17,100 17,100
O NE gl 24 & 287 2 17,100
& E FEIADN 2 182,000 182,000 0
201 er2 3| 10,000 10,000
01 At2teltl 10,000 10,000
O SH0IX & A |2+ & 10,000
307 @I2t01 & 172,000 172,000
05 212+ =S 172,000 172,000
O FEIADE! /AE5=2EH| 172,000
sdcl Ak0ts & 238 24 40,000 20,000 20,000
201 2= 20,000 20,000 0
2 S52g4l 20,000 20,000 0
O AZ0tE O=4 IV ME= 1,220
O Yot=kR= 265,000 122 3,180
O &Jies 1,300,0002 * 12& 15,600
401 AlZHIZ SO 20,000 0 20,000
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14 IIEt2 8= 30,000 30,000 0
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308 AXIHSOIA 40,000 40,000
18 SIS0t HAS A 40,000 40,000
O Reitict E2Z20H(2S L SR 40,000
401 Al HIZ R 0HbI 100,000 100,000
01 AlZ8| 100,000 100,000
O scluet Ald2g8 72l 100,000
405 AHAHE S 5,000 5,000
01 AL =S F = 5,000 5,000
O seluet == &8I WA 5,000
S Relliet olEE =4(5) 2,360,000 0 2,360,000
= 1,650,000
Al 710,000
401 AIZHIX S0HH 2,360,000 0 2,360,000
=S 1,650,000
Al 710,000
01 AlZ8| 2,360,000 0 2,360,000
O &2 seltet orei32t F3sHHZII3) 2,360,000
< 1,650,000
Al 710,000
SAURU 29 100,700 100,700 0
201 er23 | 59,200 59,200
01 At2teltl 22,600 22,600
O 2| 3Z2elid 898 1,980
O &It ¥dUd = 2,000
O ts=2= & 10,000
O URUe EdE 22 7,000
O SEHss 7Y 1,620
2 s5=34l 36,600 36,600 0
O &= 24,000
O Al€=XIbl 10,000
O #a2%=2 7Y 600
O stles 2,000
202 04l 1,500 1,500
01 =LHAHI 1,500 1,500
O 287 =4 0yl 1,500
206 M=l 20,000 20,000
01 M=4l 20,000 20,000
O SS0HE Mg 2 20,000
401 AIEHIZ SR 0HYI 20,000 20,000
01 Al&H| 20,000 20,000
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| O u=uet Ngeay 20,000
EENCIETNIEEENETEY 225,000 0 225,000
2 112,500
= 56,250
Al 56,250
401 Al&2HI L= Chb| 225,000 0 225,000
= 112,500
= 56,250
Al 56,250
01 Al&H| 225,000 0 225,000
O 21002 olet A2 T Al 225,000
2 112,500
= 56,250
Al 56,250
ZIHZ NS AHTSAL 500,000 0 500,000
308 MXIEHHIS0IM 500,000 500,000
07 XIXIEHHI 2R e 500,000 500,000
O 2| B2 AMTSAL GIEIH A
#ie S8 2o(HEIB) 500,000
S NEE SX2S 20,000 20,000
401 Al &HIZ 2 THY| 20,000 20,000
01 AlgH] 20,000 20,000
O =% AIEE gU=e 20,000
Ssi0is AE2 HHIZA 20,000 20,000
401 Al&2HI L= Chb| 20,000 20,000
01 Al&H| 20,000 20,000
O AIEE FHl 20,000
B2 CHRUMER HX 80,000 0 80,000
308 KIXIEHRISO0IE 80,000 80,000
18 2|2 SUICHEH A R IEAI| 80,000 80,000
O = HBAIZ £2 GRUER MY 80,000
SRl 164,000 0 164,000
2 154,000
Ol DIQEE EHR ZAA(2D) 164,000 0 154,000
E: 154,000
401 Al&HI L= CHb| 154,000 0 154,000
2 154,000
01 Al£H| 164,000 0 154,000
O &3 DleIZE ge2 XA 154,000
2 154,000
™S A A (HZ XA OIEHIIED 37,880 37,880
=2 37,880 37,880
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201 er23 | 24,380 24,380
01 At2teltl 24,380 24,380
O =Et] 10,800
O AIREEH 3,750
O MREHIRXIH] 7,750
O &MY 2,080
202 04l 7,500 7,500
01 2LHoIH 7,500 7,500
O SUALI 7,500
203 HR=4Y] 6,000 6,000
MU FA2ZERFA 6,000 6,000
O RA2g g2F
250,000 x20H 2=+ 123 6,000




